83000-10_B B

7 0 T SR 5%

7= miiEA

M
FETENRERHFT
PBT = PA 12 SEMERME.

K
BE:U=10-30V ER
Ihee : B fbS
FxAH= : PNP
ZRAN  FE

B &R : IP 67

BR:
I, TERIEARNURSTFRMEBMFREE. ks, LR
BETHR, BN ERR[FEERANRNFTELE.

EERA R R
for electri
or electrics N
-25°C £ +70 °C
T4
=@ REASRERP ARNAERBE,
RERTR
1) LED &R
BN = 8
BK=2f
BU=Et
M8x1 = SW13
M12x1 = SW17

| AR

L1 |
- L N
83000-10-020 TEHEM| B M8x1 |45 34,5 PBT 2 200 1500 RS 3 ¢
83000-10-030 ~EM| B M8x1 |55 44,5 PBT 2 200 1500 PSR 3 4
83000-10-040 i | B M8x1 59| 50 PA 12 1,5 200 1000 RS 3 ¢
83000-10-050 #W | B M8x1 |59| 50 PA 12 2 200 700 SR 3 4
83000-10-060 #W | B M12x1 |65| 50 PA 12 2 200 1200 R 3 4
83000-10-070 i | B M12x1 |65| 50 PA 12 4 200 500 RS 3 ¢

© norelem www.norelem.com



83000-10_B B B BRI EHLFF %

© norelem www.norelem.com



